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Accounting and Finance

52 Financial Statements & Basics

Financial Statements: Shows company’ s money and assets. (Like a company health check-up.)
Income Statement: Shows yearly profit/loss. (Sales — Costs = Profit)

Balance Sheet: Shows what the company owns and owes. (House value, loan, own money)
Sales (Revenue): Money earned from selling. (800 yen x 7,000 bowls = 800,000 yen)
52 Profits in Income Statement

Cost of Goods Sold: Cost to make the product. (200 yen x 1,000 = 200,000 yen)
Gross Profit: Sales minus cost of goods. (800,000 - 200,000 = 600,000 yen)
Variable Costs: Costs that rise with more sales. (/ngredients, delivery)

Fixed Costs: Costs that stay the same. (Rent, salary, utilities)

Operating Profit: Profit from main business. (600,000 - 300,000 = 300,000 yen)
Ordinary Profit: Operating profit plus other income. (+70,000 - 5,000 = 295,000 yen)
Net Profit: Final profit after taxes. (295,000 - 50,000 = 245,000 yen)

5?2 Break-Even & Cost Structure

Break-Even Point: Sales volume with no profit/loss. (500 bowls = break even)
Break-Even Sales: Sales amount at break-even. (800 yen x 500 = 400,000 yen)
Operating Profit Margin: Profit rate from sales. (300,000 ~ 800,000 = 37.5%)

52 Balance Sheet & Capital

Assets: What the company owns. (Cash, machines, buildings)

Liabilities: What the company owes. (Loans, debts)

Net Assets / Equity: Assets minus liabilities. (50M - 30M = 20M yen)

Shareholders’ Equity: Owner’ s money and past profits.

572 Financial Ratios

Equity Ratio: Share of own money in total assets. (200 +~ 500 = 40%)

Asset Turnover: Sales made from assets. (7,000 ~ 500 = 2 times/year)

Operating Profit / Total Assets: Profitability of assets. (500K ~ 710M = 5%)

ROE (Return on Equity): Profit from owner’s money. (M = 4M = 25%)

Current Ratio: Ability to pay short-term debts. (3M = 2M = 7150%)

52 Inventory & Cost Methods

Inventory Turnover Period: How fast inventory sells. (30 days to sell all)

Moving Average Method: Average cost per item. (700 + 720 - avg. 110 yen)



